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TacticeTest
⑦ Dealt 3 cards from

Standard S2 card deck .
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#ep1: Pick the face
value for

the pair ⑪
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ep3: Fill in the last card.

It can't be the same face
value

as the pair . So there are

52 - 4 = 48 to choose
from
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⑫Test

③ You roll four
8-sided

dice .

What's the probability

you get exactly
two 3's ?
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count # ways
to get exactly-two 33

Ste: Pick
the two spots

for the
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you are
3 ↓choosingJ-one

of

these

Ste2 : Fill in the remaining

two spots with
non-3's
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possibilities possibilities

7 : 7 = 49 possibilities
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Penticetest
3(b) Roll G-sided

die 4 times

probability 3 occurs at
least
once

*
LetE be the event that

we get at least one
3.

ThenE there are no 3's.
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⑫ Toss a coin 20 times.
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(a) probability at
least two

heads occurs ,
in two

or more
heads occuring

Eleasttwo heads occuring
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Eor one
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heads: 1 way
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So ,

(E) = 1 + 20 = 21

So
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=plexity) + plexactly) + Put a
+ Plexacta

=+
22

-i



TTTHIIT I ...- I-

-

-
pick two spots for

the heads

(32) .
The rest have

to

be tails , no
choices .Su


